normalized X2

Ratio

< X2/ ndf >

< X2/ ndf >

Ratio

[ normalized x? probability |

0.06

0.05

Eniries 526269 0.04
Mean 1075
SdDev 08122

0.03]

Ty
o
o

Ratio

02468101214161820 -0

2

Entries 546284

" [Entries 546269
Mean 0.5168
Std Dev. 0.3237

Entries 382002
Mean 0.526

0.10.20.30.4050.6 0.7 0.80.9 1
Prob(x2)

— nal_step. ar-phasel-newgeom
—m— DOM_T mkFll slepZ ttbar-phasel-newgeom

—— DQM_angle_step2_ttbar-phasel-newgeom

s DQM_fast_step2_ttbar-phasel-newgeom

mm DOM_pixelCPETemplate_step2_ttbar-phasel-newgeom

>

Q0

|l

=
i

< X2/ ndf >
=
00

i

Ratio

1 -1
AR(track, jet?



	Contents
	Page 1


